Panasonic

DLP" 7OV 05 —B+v U2 I\ R

HX{TEHEAE
=x TY-HAD75

B

FrUII\2 RILOBARE
MO RYE wessnmmumonmasi 3
5 5 O o

CDICUIF, DLPY" OV 059—RBF+v U2V T\ BIL7%Z
BBV EIFLIEE, FL&ICHDHHEDSITETVF U,

BCDOSHEEELLBFEHDSZ. ITEOBFFIRMENTEET>TLEE

[ COHBRIE. HTBEHICHELIEEL) |




//\@5:3 (CERBALTLE T

B RTABSZEERUTEOLBEVWEGZ UL EETICELIBEVPYNEEDOEEZ. RORTCTEI L. HALT

WE9,

m > M= 488 "’*--+.—_ —“+ == 8 £ = L4 VAR Z 2= NIO EF i
i T : 5 (£ = S A8 3 =2 NIZE d
A CDRTDMEIE. [FECECEFEBEZED CENEBESNDSEBEDIEE] T

CDRTOWE. [BEZEDIENEEINDD . FCIYNBEORENEES
/I ;..,\ NoesE - 8D C

B BFOVELABDOEEAZ. ROBRTCXI L. HBELTLET.

® CORERE. LTRVLEFHEL [ZiE] ABTY

B T=OSMEMEMNEERD I TIEEZ B ARELEHRICENEL)

Hb’;b\ \D _/U /C:CJJ_%/uv lvk_. / ‘:%< -
® TEDORBICED, ATHEHORELE BNEOUT. IFHORAEELEDET
IFDET

3

BO0OVIO5—0R - BReZeTFFd HEIPEIDOZUVA. HEPER.
BRRICEREB LWL HOFEET DPRICERE LW

LGNS L+ r 2~ | ¢ = — b
® WKDBEEELD T D WEDEEEH B ERBDFET

Rk

N =
b

E)T

L
=

9
o}

-




FrUVII\Y RILDBRELEEXD fFFH T

v U\ R)LIE DLP™ J0Y 105 —0OBEELULTREVLSDHDTT.
e, I\ RILDEDRVWERETEARTOIEDBTEFT

=+
-

L Ri57
m %

FrUZTI\Y R FrUTI\Y RIVERAETT

FrUVIINY BRI ? JOVIoF—KEITFUVTI\
BERU ; M8 x 30 (4 %) Y RIVERDITEELERT.

* (XSN8 + 30)

SBEER] JOYVziod—=ERIARICET

(FF oA —) - BEERELET,

(418)

- P M4 x12 (8 %) FvUVTI\ RVICRBHZEE

B ? (XSN4 + 12F7) | LET. @hm2@)

B 75vyFTL— bOEDRTF
TOVTOI—~"TEEDFIBETF+ U VTNV RIVERDFITET .
| D BSHVEZED L TOY T 25 —OEE
ty MRAAP ELEEcLTEL
® JOVIHI—EEDEY N (4P %
NG

(EOAULzY bEIE. TTICR I BS(CERA
ULEITDTARUITRELTLIESLY,)




FrUVIN\YRILBERRL @ FvUVIN\Y NILAGKZTOI T I5—
[ty ~TD

@ FvUVI)\2 FVEERU (4K) THFv
UVIN\Y BILETOYV T I5—ZBET

® REMAEZF+ T\ BUICEEEH
BERQU (8X) TEEID

® 7OV O5—%ZTICRT
(ZOY x5 —DXEZLICTD)

@ 7Oy oy—ZmBEL. £ARI&R4ED
HEHCETIRTZRHEITD

e0o0 0 O J
_— % U\ RILOEOAUDEE. F
/TE; JE@D S@EEDIETT o> TS,
0~23mm

B T
7 v A5 —EH 0~23 mm
~ & BIES8B MM BHE90mMm BT 716 mm
=] 3.4kg

WMTEBERMIASHE YATLERII—T

T 571-8503 KERFEFIEMHMEE2F 155 @&(06) 6801 — 1161

© Matsushita Electric Industrial Co., Ltd. (i F@zmEssia) 2002



Panasonic

Carrying handle for DLP™ Projector
Installation Guide
woaerno. £ T=-FHAD75

Table of Contents
Dear Panasonic Customer .................... 2
Precautions with regard to safety .......... 2
Parts List and Installation ...................... 3
E Specification .........ccccccvvveeiiiiiiiiiieiiiiiie 4

Thank you for choosing the ET-HAD75 Carrying handle for Panasonic DLP™ Projectors.
M Only a qualified installer should install this product.

Read these guide completely before installing this unit.



Dear Panasonic Customer:

This instruction booklet provides all the necessary operating information that you might require.
We hope it will help you to get the most performance out of new product, and that you will be
pleased with your Panasonic Carrying handle.

The serial number of your product may be found on its back. You should note it in the space
provided below and retain this booklet in case service is required.

Model number: ET-HAD75 Serial number:

Precautions with regard to safety

WARNING
Installation work should only be carried out by a qualified technician.
e If this product is not installed correctly, serious accidents may result.

Do not install in unstable locations.
* The bracket may fall and cause injury.

CAUTION

Do not install the ceiling bracket in a place which may impede projector ventilation.

¢ If this is not observed, fire may result.

Do not install in place which are subject to humidity, dust, oil fumes, water vapor or excessive
heat.

* Fire may result.



Parts List and Installation

The carrying handle is for use when moving the DLP™ projector. The projector can also be used with the handle
still fitted.

B Parts List

Parts name Sub-components Purpose

Carrying handle The carrying handle.

. S
Fixing scrr]ewé?r ‘-‘,;" For fastening the carrying handle to
carrying handle = i
rying 5 M8 x 30 (4pcs) the projector.
= (XSN8+30)
Adjustor ; For adjusting height and inclination
. when using the projector.
S (4pcs)
- M4 x 12 (8pcs) For fastening the adjustors to the
f :
len:\%jsucsrteovrv or g (XSN4+12F2) carrying handle.

M Installation
Installation the carrying handle on the projector by following the procedure bellow.

1. Place the projector on a cloth or other soft

Four i‘gl\istors surface with the base facing upward.

2. Remove the four adjustors (setting legs) on
the bottom of the projector.

(The removed setting legs will be needed
if it is required to return the projector to its
original state, so do not discard. Store
carefully for future use.)



Fixing screw for carrying handle

Fixing screw for
Adjustor

E/Adjustor

co0 0 O
X —— =i
/§0-23mm

B Specification

3. Attach the carrying handle to the projector.

4. Fasten the carrying handle to the projector
using the four screws. (M8+30)

5. Fasten the four adjustors onto the carrying
handle using the eight screws. (M4+12)

6. Return the projector to its original position
(i.e., the top surface of the projector facing up.)

7. Position the projector where required, and
adjust height and inclination with the four
adjustment screws at the front/back left/
right.

* To remove the carrying handle, perform
steps 2 through 6 in reverse order.

Adjustment range

0-23 mm (0 - ¥/64 inch.)

Dimension

W 586 mm (23 8/eainch.) x H 90 mm (3 '7/a2inch.) x D 716 mm (28 %16 inch.)

Weight

3.4 kg (7.5 Ibs.)

Matsushita Electric Industrial co., Ltd.

© Matsushita Electric Industrial Co., Ltd. 2002




